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~1.’ ~Answer the following qu‘estiohs.: B - - 1x8=8

WWWWW

(® What is a derived class ?
Derived class & ?

(b) Definé Queue.
Queue 39 0 ‘

() What is visibility mode ?

. Visibility inode &2
() ‘What is a linear data structure?

_ Linear data structure & ?

©) Write the name of any one operation performed on STACK.
STACK - © ST R “1_ ReiE 9 operatidn = A ?’i‘ﬂvl

(f)‘ . Define inheritance.

" Inheritance 3! 31|
€3] What,is Internet ?
| ZOREE R
() What dO'es'FRONT 51gmfy in a queue?

Queue €IS FRONT—&SI & I 2

\ . .
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2. AmWer the following questions : B 4 : 2x10=20

e

(@)

®

(©

()

When is a.cbpy constructor called-? . 4

Copy constructor €51 (fat call FI =W ¢ .

Write kwo differences between primitive and nénfprinmiﬁve data
types. ‘} | ,
Primitive SIS non-primitive data type-¥ e 71 sy ot
Differentiate between linear queue aﬁd circular queue. _
Linear queue W»cir’cu:lar queue¥ WEF A1y wexffa | ; .

What is POS ? Write with example.’

' POS 2 Bwigmal wR for

@

.Drawv.the. logi'cal; circuit diagram for DeMbrgan's first theorém. _

 DeMorgan-< #13% S I wferes W o il

8

W
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Differentiate between LAN and WAN.
LAN Si% WAN-3 e 15 wedfiaie=

What is the role of a switch in a network ? .

Network-% switch <517 gfiel ¥ 2

Differentiate between static énd dynamic allopation of mémory. o

Memory-3 static =i dynamic allocation?ﬁ’ e AAiey v

'[3]' o : . Contd-




@) How Aré files in binary format different fr_om .ﬁles in text format in
C+ ? ' : ' .
~ C++ T text format—? W b1nary format—? *@‘f?{?‘l W ﬁr‘iﬁ
il

(j) What is bandwid’t_h-? How is it measuréd ?
‘Bandwidth ﬁvzims R C@Mi LR

3. (@ Rewrlte the followmg program after removmg the syntatlc error (s).
wmmm—uﬁm—amm@mwm

include <iostream.h>
class BUS
{ - long Bus No; .

" char Description [30]; |
public .-
void Entry ( )
{ c1n>>Bus No; gets (Descnptlon)
}
void Show ()

{ cout<<Bus No<<":" << Descr1pt10n<< endl;

}.
12 "
void main ( ) -
{ BusB;
_ Entry.B ()
~ Show.B ( );
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®b) Answer questlons (i)-and (ii) after gomg through the followmg code:
. o 1+2=3
| W'che.-cm ﬁmaﬂ% () W% (i) o e e s
class EXAM . | -
A 1nt Rno, Total Min, Marks,
public : , v
EXAM () /A FUNCTION 1
{ Rno = 201; Total 100 '
Mm 45; Marks = 75

.
EXAM (mt Trno, mt Tmarks) // FUNCTION 2

'_ { Rno =.Trno; Total = 100;
M“1n 45; Marks = Tmarks, )

~EXAM()  // FUNCTIGN 3
{ cout << “EXAM ENDS” | <A< endl; .
~ voidshow () ' // FUNCTION4
| T{ cout << Rno << “.” << Total <<”:” << Min << end];

- cout << ”[MARKS]” << Marks << endl
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() Which concept of Object Oriented programming is illustrated
by Funcion 1 and Function 2 together ? |
Funcion 1 O ~Functioﬁ 2-9 tﬂ’@fﬂm . object oriented
programrmng—? (IFCo! L= @ﬁz‘i | |

(u) What is Functlon 3 spec1f1cally referred as ? When w111 Function
3 be mvoked ?

Funcnon 3% ﬁ% 153 {ﬁ'{ @Cﬁﬂ L] ZQCQ? Functlon 3 @?an

mvoke B fﬁﬁw\’“ iﬁ

© Write a C++ function . to fmd the sum of dlagonal elements from a
Two—dlmens1onal array of type ﬂoat Use the array and its size as
parame_ter w1th float as 1t_e return type. - E o ' 3:
float .’cype—? ﬁﬁnﬁﬁs"jﬁlﬁ «BIg 7 35“1‘5 GTeT TR C‘N’ﬂ‘@‘? S/ A B |
C++ T {711 | &SI WW size parameter {21 IR FRAL zn-(.@-‘ :
return type float & {W . |

s (d) Write an algorithrh for the evaluatiorr'of POST FIX expression. 3
!‘ ?osf Fix expression-< Ql?Ff W R TR AR B .elgorithm %RITI
| " Oor/ we/ar |

Write an alge’rithrn for performing insertion in linked queue. 3

Linked queue g inseftion MK FII AR <51 ‘algorithm feTalt | |
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.(e)v

Explain the concept of Cartesian Product b'etWeen‘ two tables, Wlth

the help of appropriate example . - 1+2—3

T table-a W Cartesian Product—? aﬁcﬁzﬁ @9{3{‘ W‘R Rk

'WWI

-Explain how'SQL UNIO_N }opé.rator works ? lee exémple. 3

Oor/&a -

SQL UNION operator-¢ TR B T i =01 -@mq_m.
Wr1te an SQL command to create a table (employee) W1th the’
followmg attributes : o o 1+2=3

AR attrlbute 71‘{@ Z’T(.— él?l?l table (employee) 7{@ = AR SQL

command &1
ecode : integ'ef.
ename  char (25)

grade  char @

‘ groes " decimal

'. Set ec:ode as the pnmary key of the table The attributes should not

allow NULL: values. Ensure that values mserted for gross must be

: greater that 1000.
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ecode (51 . table S primary key 251t set 1 | Attnbute T2 NULL:
value WSR allow IR eigat | gross—? = W@—(@ TN TN AR WS
1000-“?25 Thex = (edrali ﬁﬁr i
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Or/ CECNN

Explain UNIQUE PRIMARY KEY and DEFAULT Constramts with
* the help of examples.' '

UNIQUE, PRIMARY KEY W. DEFAULT Constrainté | v?m:acﬁ TS
@ Draw the logic circult dlagram for the followmg expressmn 3
s it P e A S B |
| vl.YA:ab,-i-Ec-i-‘v’c'a—'. :

Or/gdl
W‘ri"fearid prove .:th'e.Absorpti'on Law | S ' ‘g
; | Absorption B! Bl W et T4 |
1 | ) 'Verﬁy the followihg algeloraic‘ally :: I - 3
(A'+B) (A+B) A’B+AB'

Or/ a4t

, Reduce the following Boolean expressmn usmg K-Map 3

K-Map W 3R &9 Boolean AMITH! W\f‘EFW‘T W s
F(P,QR,S) = 1(0,3,5.6, 7,11,12,18)
@) Explain any three network topologles for networks - ' .3

- Network-3 9@ ﬁZWE’T o7 &ﬁ“ﬁ network topologles an::m WI
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Or/ W"/?T
' Wnte the dlfferences between GPRS and WLL. . , 3

WLL @i GPRs—a Wfﬂ@ T B

4. Wtite a fnnetion in C-Ft to eOunt the ‘number of "He" or ”She words
present in a text file ”STORY TXT " If the file ”STORY TXT” content is as
follows : . o S L 5

‘ frf% “STORY. TXT” file-3 content weTs il 4R =3, c—ﬁm text file

. “STORY.TXT” ® 9= “He” At “She” *RPTIR I FRI AW Bl Cir+ Tl

“He is going to mdrk‘et. She is ‘cookAing‘i.n the kitchen” .

The output of the functlon should be as follows
W‘CBN output o ﬁ?ﬂ‘ R 2l Bfe
" COUNT OF He/She in file is 2
Or/ WW
Wfite a} pfogram in C+;|-..to exchange _the positions. ofAs,tring'stored in an B
_array using array of pomters ' ‘5
Array of pointers W SR *ee oo store <3 QI?FT strmg—? W AlET-
WWWC++\9&£{31&I@’IWI / 4

[
[y

R How does the access of inherited members depends upon theif access

spec1f1ers and ‘the visibility. modes of the base class ?- Explam N 5
Inherited member IZH access e ﬁﬁ? base class—? access spec1f1er %
.v151b111ty mode 3‘15;[’8 @oige RS W W F90 ' '
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Or/W

| What is constructor overloading? Write a program in C++ to show

~ constructor overloading. L | 5
coﬁstrector everloading ¢ constructor overloading T4IRA AR Ct+ ®
0t o Bl o ‘

6. Define aclass to repreéent Ihaa’»csmen' in a cricket team. Include the following

members | - ‘ B 5

?‘@53 e Lﬂfiﬁ? batsmen represent W ?ﬂ'@ @B class deﬁne Ea N o

.‘ member R TS W s
DATA MEMBERS :
FIRST NAME
LAST NAME
'RUNS MADE
NUMBER OF FOURS
'NUMBER OF SIXES
MEMBER FUNCTIONS :
(i) To assign ﬂ'ie initial values.

() To update runs made.
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@iii) To dlsplay batsman s 1nformat10n

Make appropriate assumptlons about access labels.
Or/ W

- What are static data members of a class ? Ekplain‘ the characteristics of a
static data member. | ' '
Write a prog;am in GH-to suppbrt your answer.

e o 5

Class &ﬂ?ﬁ statlc data member TR 1533 statlc data member-? hﬁﬁlﬂ?{i
I A | €O ma@@aﬂwaWCH © &5 efeer. fera |

4
. [
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